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Due Date: 1/6 (Tue)

Points to note:

1. Notes and problem set 8 answers could be downloaded from my homepage.

2. Yearly examination will be held on 23/6. Answers of revision exercises at the end of each chapter will be uploaded soon. Let’s take advantage of that. Doing MCs is a good examination preparation. Please also read my notes on essay structure, which might help you a lot in essay writing.  

Multiple Choice Questions

1. Which of the following kinds of business ownership enjoy the benefit of limited liability?

(1) shareholders of a private limited company

(2) sole proprietors

(3) general partners

(4) limited partners

A. (1) and (2) only
B. (1) and (4) only
C. (1), (3) and (4) only
D. (2), (3) and (4) only

2. An ordinary shareholder of a company is entitled to have

A. voting rights in all meetings of the company

B. voting rights in the annual general meeting for shareholders of the company

C. a fixed rate of interest in profitable years

D. varied rates of interest in profitable years

3. Dr. Lee wants to set up a clinic in Central. Which of the following are the possible sources for him to raise capital?

(1) Inviting Dr. Wong to form a general partnership

(2) Forming a private limited company and issue shares

(3) Borrowing money from friends and relatives

(4) Forming a limited partnership by inviting Dr. Wong to be a limited partner

A. (1) and (2) only
B. (2) and (3) only
C. (1) and (3) only
D. (2) and (4) only

4. Which of the following is NOT a feature of a private limited company?

A. shareholders are the owners of the company

B. all owners enjoy limited liability

C. shares of the company can be freely transferred in the stock market

D. the company needs to disclose its accounts and financial situation to its shareholders

5. YKK is a large zipper company. In 1960s, it took over many iron ore companies in the world. This is an example of ________________ integration.

A. horizontal
B. vertical forward
C. lateral D. vertical backward

6. Cheung Kong Holdings Ltd., a real estate developer in Hong Kong, acquired a wine field in Germany. Which of the following are possible motives behind this kind of intgration?

(1) Economies of scale
(2) Business diversification
(3) More outlets for products

A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)

7. What are the possible results after the elimination of the interest rate agreement among banks?

(1) It may harm the interests of customers

(2) Banks will compete for deposits by offering higher interest rates

(3) Price competition will arise among banks

A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)

8. Which of the following belongs to monopolistic competition?

A. Bus services
B. Convenience stores
C. supermarkets
D. Boutiques

9. Which of the following is NOT regarded as non-price competition?

A. Cash discount
B. Branding
C. advertising
D. Attractive packaging

Essay type questions

10. KCRC provides the railway transportation services in Hong Kong. 

a)What is the type of ownership of KCRC? Who owns the company?

b)Give TWO advantages that the type of ownership that KCRC is over government ownership.

11. Peter and David are partners of a drugstore. Peter sells prohibited drugs in the store without David’s consent. Explain whether David is liable when the drugstore is charged legally with selling prohibited drugs. 

12. Suppose in 1998, China Resources Enterprise Ltd. Acquired 80% of shares of Ng Fung Hong Ltd., one of the largest food distributors in Hong Kong.

a) Identify the type of integration. Briefly explain your answer.

b) Which method of integration has been adopted in this acquisition? Explain your answer.

c) State ONE motive behind this type of integration.

Answer key to problem set 9

1.
B
2. 
B
3. 
C
4. 
C
5. 
D
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D
9.
A


10 a)It is a public corporation owned by the HKSAR government.

b)It can response to consumers’ demand promptly. 

It has greater incentives to reduce its cost of production by using the resources effectively.

11.  David is liable for Peter’s behavior.

According to the ‘collective responsibility’ feature of a partnership, decisions of any partners are binding on others and all partners are jointly responsible for what the firm has done. That’s why David is liable for Peter’s illegal behavior although he did not give Peter his consent.

12. a)This belongs to conglomerate integration, as this is a combination of firms engaging in different types of production. China Resources Enterprise Ltd. Is a holding compnay with different lines of business. The taking over of another line of business, Ng Fung Hong Ltd., is a kind of conglomerate integration. 

b) This is a takeover. It is because China Resources Enterprise Ltd. only acquired more than 50 percent but not all the assets of Ng Fung Hong Ltd. that its corporate status has not changed. 

c) This integration would reduce risk of the company by business diversification. More different products will provide more sources of income, hence risk is reduced. 

Comments:

Explain! Explain! Explain! Please explain your answer. 

Answers are generally satisfactory, but TOO BRIEF. State the definition when you are asked a question relating to a specific concept. And please write in complete sentence even if the questions only ask you to state the answer which is very short and straightforward. 

Q10. b)The question asks about the advantages, not features. What is the advantage of independent management and finance? Many of you fail to elaborate further. Also, please make sure what you are comparing with. 

Q11. Limited liability of limited partners only refers to debts incurred, but not legal charges. You may refer to the table in p.148. Owners are responsible for any legal charges against the firm. 

Q12. a)In dealing with similar questions, the first question to ask is the nature of business of both firms. As we know clearly that they are different and not related at all, it must be conglomerate. 

Q12. b) Merger also fulfills the condition that more than 50% of shares is acquired, but it is not takeover. Many of you fail to mention only 80% of shares is acquired and its corporate status is kept. 

Q12. c) Motives of integration is being asked, not the effect of it. Hence decreasing average cost is not accepted. Mention economies of scale alone is too vague, give an example of a specific type of economies (e.g. technical economies, financial economies) would be much better. 
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